Efficiency vs Dxy(PV)

S 0.2

o
0.18

o
=y
T[T [T T [T T T T[T T

Ratio

0.

5=30-15-10 5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_V0001_R000000001__Global__CMSSW_orig
—— DQM_V0001_R000000001__Global__CMSSW_dt08
[Efficienc]| —— DQM_v0001_R000000001_ Global__CMSSW._dt05

S 0.3: - -
g F bl :
= 07f--f-| - -
e o N :
£ o6f-f-f-: .
IS 3 : .
o E
g : :
S o5f--f-t-t :
S F : :
© o0af--fhi-t :
0.3 gkl :
0.2F--HH-+ :
(O o :
E il g i
8 +¥ 111! : Ny
© : I I
o - Mt it
TN \\\H\'\H\HW'HHH\H |
09 55 6-0.4-0.2 0 0.2 0406 1

TP dxy(PV) (cm)

S 0.5

o
N
Ul
QL L LRy LRy LR LA LY LA LR LAY LA

=30 -20 -10 0 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.8,

0.7

0.6]

0.5]

efficiency vs dz(PV)

0af- il

R R | B R




	Contents
	Page 1


